T1.¢: 031

085/DM/22

Register
Number ,

DEPARTMENTAL EXAMINATIONS

SURVEY DEPARTMENTAL TEST - DRAUGHTSMAN TEST - PAPER-II

(Without Books)

Maximum Time : 2.30 hours Maximum Marks : 100

1o

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
Afeurer ellenLwall&@bd euens ellarmggmer

Read the following instructions carefully before beginning to answer the questions.

Aermsaense edmwallss Qsr kG (pery Spssa. Sidle|@smar SaETONS Ui &&HaLD.

Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued. :

fenseer GHLELGerer aramalismsss Sfawnns @l Gudar, e gsrafler @nsuid
o drar 2fs aarafs@slana el ser LHUSE baLwULTg.

In case of doubt, English version is the final.

Aarsseie sxCss8HLG Ghde algeld arhisslu(Herar darrssCGer @mSwirens).
Candidates should use the special kind of papers provided separately by the

commission for answering the questions in respect of the diagram/datas entry type.
They should not answer in the printed forms, if any in the question paper.

eSla@manTlILGTITSET  euenJuUL LD mmgg@/grys&&mcﬁ o gret(m Gewgd Gzmiiumen
AemsseEnsE HaLwels@n Cur@GLE sreuT@aTUSSTR  SH0 s seflurs
apmsiuBb  fAply  aeyULSsTETSmeT Lweu@$seyd.  Wmns  eSemgsm@asL e
QearssLEDL GemaiLseT/iEsssaln elowalsss emLg.
A ‘4’ Size Paper — 2 (Two) to be enclosed.
A‘Y gearay grer — 2 (@raw() PeenssLiuBd
[N.B] (1) Answer ALL questions.
s@asg danésEpsEh el wefl.
(2) Candidates are allowed the option to answer the Paper either in English or
Tamil or even to answer the Paper partly in English and partly in Tamil.
Ao wuals@h srefle cfeLsd gpudan (sweg) s (Sidag) urrdl
s idasdan whpb urd slfan el salssm.
(3) Marks will be deducted for bad handwriting.
Qsaflaupp epule @sCupss B@oder wHuGuear GampssiLHID.
(4) Chamber’s mathematical Tables and Traverse (Boileau) Books only allowed
with Scientific Calculator.
Gsbuiey (Chamber's) safls euriiun® wpmbd Lyreaiey umiGe (Boileaw)
UssssEILen safliurer Sigidssiuo.]
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Plot the Field Measurement Sketch enclosed with this in the given drawing
sheet in Scale 1 : 1000 mm using sale. (20)

Qés e @aemssliul HeTer LoUULSMms euphisULULL QeudTener auenyaysd g;rraﬂa)
<erayGane geam@arar® 1: 1000 4. 1] GT6HT(D Seredled euemre GFLS.

Mark the following details in the sketch : (6x2=10)

(a) Calculate area for the Sub-division Nos. 2 and 5

() Church in Sub-division No. 3

(¢) Round well in Sub-division No. 4

(d) Salt pan in Sub-division No. 6

() Burial Ground in Sub-division No. 1.

UL s EpsarL claédlamen @hlEsayd

(=) aerusder o L 19fey e 2 wHmb 5-ar LUy saflésa D
(@) 2 9fey erer 3 & Cseurawibd '
(@) o 9fey erer 4 @ eulL sélawrn

() 2 19fley erewr 6 @ 2 Liuerd

(2) o 19fey ereir 1 6 oUITERTLD

II. Simplify the following using Logarithm : (2x5=10)

7210x5600 (3720 % 2850) 355.0x8050.00  5200.000
9400x1100 740x90 25.000x000100 ~ 1200.00 -

arsdrgn (Logarithm) e LCwrélgg sméEES.

7210x5600 (3720 x 2850) 355.0x8050.00  5200.000
9400x1100 740x90 " 95,000x000100 1200.00

III. Explain: (56 x 4=20)
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IV. Calculate the "Bearing and to find the Area of the field. (20)

Stations Angles Bearings Distance
(in Meter)
A 181°18"  162°08" 190.8
B 97°14" 120.2
C 84°30" 173.0
D 185°25" 89.4
E 172°58" 54.6
F 94°07" : 138.8
G 84°28" 120.6
gmauCaTarhser saTadll( UL euey sanssl[Hs.
Blenawiriser Garenr =iaray  gi(reuCamand sereyser (BUL )
A 181°18" 162°08" 190.8
B 97°14" 120.2
C 84°30" - 173.0
D 185°25" 89.4
E 172°58" 54.6
F 94°07" 138.8
G 84°28" 120.6
V. 1. What are the different kinds of stones planted in a Town Survey? (5)
2. What are the different steps in the survey of a village? (5)
3. ABCDisa un-shapgd field. A to D is a G line. To find the area of the field? 7 (10)
D
1550
1200 -350 C
B 220 - 300
A

ps7 He eree Lanflle LwaLEFELLED AaiaiGaig ai@sLITET SHEGT LT ?

bo

o® Arrnsdeaer flo s GauywGurg Cop@srerariu@id Uanflser wreneu ?
ABCD earp Heeowunsala pHGa @dsareaser B fleo Qer@aslul(ererg)
flevaowd A to D aréug) G-Camh @b, aafld <ips yegder LplieTene sauéH (s,
g _
1550
1200 -350 C
B 220 - 300
A
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